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直线与圆的有关问题专题测试
一、单项选择题
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 A.相离   B.相切   C.相交   D.不能确定
5.
[image: image17.png]B yREL+y0





 A.[image: image18.png]IS



 B.1  C.-1  D.[image: image19.png]SIS




6.
[image: image20.png]Bty =r+b St x = f1- ) BRATE—A44EE W MBESER ()





 A.[image: image21.png]LG



 B.[image: image22.png]“1<b <2



 C.[image: image23.png]~l<bsib=—2



 D.[image: image24.png]-2 <b <l




7.
[image: image25.png]EESr+y+m=0582" +y* = w8t WnEF ()




 A.0或2  B.2  C.1  D.无解
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答案部分 



一、单项选择题
1. 

【正确答案】：C
【答案解析】：
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2. 

【正确答案】：A
【答案解析】：
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3. 

【正确答案】：D
【答案解析】：
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4. 

【正确答案】：C
【答案解析】：
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【正确答案】：A
【答案解析】：
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【正确答案】：C
【答案解析】：
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【正确答案】：B
【答案解析】：
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【正确答案】：D
【答案解析】：
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【正确答案】：A
【答案解析】：
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【正确答案】：C
【答案解析】：
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